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1. When three times of a given number is subtracted from the square of the number,
the result is the number itself. The number is

(A) 4 (B) 2
(C) -2 (D) -4
1. (PG GF MY 9T o[ FRGICOR ol @ [l Ffca 279 @R Ao Il IR |
RANCBT (20’
(A) 4 (B) 2
C€) -2 (D) -4

1. 93 2we MY foq @9 5iiog qof (e Ko 91 2 Ao Ref o )R e

TR | IR 2e
(A) 4 (B) 2
(C) -2 (D) -4
1. it 798 Al SiHeE ol aesememE! ame A, e % 9 sEvmEE S fon
EiEIR]
(A) 4 (B) 2
(C) -2 (D) -4
1. v e den &1 9 T 3@ e & ot @ e fen S @, 9@ ufom 9@ @@ 2dt ) a9
T B
(A) 4 (B) 2
(C) -2 (D) -4

2. In Roman numeral, XCI represents the decimal number
(A) 41 B) 21
(C) 91 (D) 111

2. @NE Y XCI @ el ™IS ARG (202
(A) 41 (B) 21
(C) 91 (D) 111

SPACE FOR ROUGH WORK

SLRC—2024/P-111/ 1-B 6



2. @ W47 XCI 5[ fofee a1 wifis 7amfb 25
(A) 41 (B) 21
(C) 91 (D) 111

2. WM g@eAE XCI T gnfies sHfsmmrn st

(A) 41 (B) 21

(C) 91 (D) 111
2. A 3Rl § XCI 58 avmera g 1 gfdfics i 2, 98 &

(A) 41 (B) 21
(C) 91 (D) 111

3. A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is

(A) 9 m (B) 5 m
(C) 11 m (D) 12 m

3. 13 . trefiq &<eT qule] Tery (TEIE Q9O (R 1 SCR O T €7 ol 5 . Twere
IR | (AR AR S G4 O] I A6 S 7] (20

A) 9 . B) 5.
(C) 11 . (D) 12 f.
3. 13 fi. o @ T2 «Fh Tor (SR AN @IS (20 W @ OF T A 5 .
T TFS | (R AT <R SRCE O AT T AT 730q 2
A) 9 fi. (B) 5 M.
(C) 11 . (D) 12 f.
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3. 13 4. Miema S TeE! AT STEmE st 5 3. Siemsard 9FR g9 S9el | S STaT—wm

TES Sty Merfify Tfefm e 9
(A) 9 . (B) 5 f.
(C) 11 fa. (D) 12 fa.

3. 13 o Tl TF €I T HeAieR AR T gehl T3 7, (98l a0 5 o & =8 W g1 dan
% freet R ot gt & freet R & e & afost g 2

(A) 9 Hio (B) 5 Hio
(C) 11 Hro (D) 12 o

4. The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is

(A) 1 (B) -1

C) 2 (D) 3
4, 2,-1,3,1, -2, 5, 6 RIIFICGR T (22

(A) 1 B) -1

(C) 2 (D) 3

4. R q&y 2, -1, 3, 1, -2, 5, 6 -9F T 297

(A) 1 (B) -1

(C) 2 (D) 3
4, SEGMIwIL 2, — 1, 3, 1, - 2, 5, 6 TowART

(A) 1 (B) -1

(C) 2 (D) 3

4., TN h AgFA 2, — 1, 3, 1, -2, 5, 6 H HLH ©
(A) 1 B) -1
(C) 2 (D) 3

SPACE FOR ROUGH WORK
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5. A person moves along a path such that he is always away from a given point by
7 m. After moving for some time, he again reaches his starting point. The
approximate distance the person moved during the time is

(A) 22 m (B) 44 m
(C) 122 m (D) 144 m

5. @& YRR 9F e {9 Y91 ey 7 [N 799 iR A 9F [{iE e oife w1 g
GEWCA SIS TR (€ 777 AR AN FT© T7o BACol | G2 TRCFAS (T oG 9] TG

ST AW (2R
(a) 22 f. (B) 44 fx.
(C) 122 f. (D) 144 3.

5. @ e G gL 72 G 5 @ ¢ I @I [FE 7 e 7 [ yme q@ww Ay |
%9l Bl A1 O ORI O e f[ee e | @@ e (el ety wfede 4

RIS 79 25

(A) 22 . (B) 44 f.
(C) 122 fi. (D) 144 f3.

5. 9 AERMET ™ AWSH ARG o™ el o o 7 fSgiwm Searet 7 WL TsmE o
T GH AEEAEE IFE R e ARSI SR 6| 3 AEET ST 99 TS

TSI ?
(a) 22 . (B) 44 fir.
(C) 122 fu. (D) 144 fa.

5. T Afth UF 99 T 36 THR Fadl ¢ T 98 g 10w forg @ goem 7 o g w@an g1 $© X o
% 916 98 QA IO TR forg W Oge San §1 39 §HE % QR At g a9 ohl TR STgETa

U
(A) 22 Hio (B) 44 o
(C) 122 Hlo (D) 144 Hlo
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6. A cube of volume 1 m? is cut equally into smaller cubes of volume 1 cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

6. 1 99 . SO« T GOIF 7[1 1 99 (5. . SR g 7 T AN 6 Sferea 2 |
21 I T R (2R
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

6. 1 ¥ . SRS G T FEF AN AP FUed 1 997 O, [, ARG Td [oe
T | A1 FY TG TR 29

(A) 10000 (B) 100000
(C) 1000 (D) 1000000
6. 1 o9 . T M1 T TR E 1 o 9. i Qe SAe R s e grtsar, qieed
TraTfem oes TERTH?
(A) 10000 (B) 100000
(C) 1000 (D) 1000000
6. 1 7 Hio 3G 9Tt Tk o %1 1 9 Fo Hio MRGH dTet BI B H THH ®I ¥ H1eT FIaT €| IIT
T B 4] o T 2
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

7. The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 (B) 18
(C) 48 (D) 36

7. 6, 8 IF 12 (T 0P RS [AOE) T[oToq 4o S FRIYCE B
A) 24 (B) 18
(C) 48 (D) 36

SPACE FOR ROUGH WORK
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. TP LN AR T 9B M 6, 8 @] 12 Al e, Gib 28

(A) 24 (B) 18

(C) 48 (D) 36

. TG GARH IeEAE T AN e 6, 8 AR 12 S TASEN, ST e
(A) 24 (B) 18

(C) 48 (D) 36

. TS BT GATcH qUTish, ST Tk |19 6, 8 3R 12 ¥ fawrsa 1, 2
(A) 24 (B) 18
(C) 48 (D) 36

. The difference between the smallest 3-digit even natural number and the largest
2-digit even natural number is

(A) 1 (B) 2
€ 3 (D) 4

. 3-SAYS GRS T JA TP FRE] OE 2-SS AT I FoID R (146 (202
(A) 1 (B) 2
(C) 3 (D) 4

. 3-ICFT FUON FOISF I TR 8 2-WCFI J2EH FOIF I TR ¢y AL 23

(A) 1 (B) 2

(C) 3 (D) 4

. GARE 3-wRfsmEE i s smim o) wfE 2-amtsmrE i as'w swim Tsa
oI BT

(A) 1 (B) 2

(C) 3 (D) 4

SPACE FOR ROUGH WORK
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8. 3 3ol %l HaH BNl TRk TH TEAT 3R 2 3o 1 G ! TThfdeh TH T o o< ol AR @
(A) 1 (B) 2
(C) 3 (D) 4

9. A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is

(A) 16% increase (B) 16% decrease

(C) 32% decrease (D) No change

9. (I @Bl TRYIF 2 40% I F91 27 T O] Pwe 40% 2P F90 276 | =[O 2/R[1re
ARG Yo e C2>

(A) 16% I (B) 16% 3P
(C) 32% 2™ (D) SfRafee

9. ¢ MANTF 40% I T T IR “FAGICS 40% ZPT F41 27 | *ORF Ffaey wwanfoa @b

o[fée =e
(A) 16% I (B) 16% 3™
(C) 32% z™ (D) S Ifz_f$e
9. s&aT AHY fsEmaE! f 40% SEFM™ S AR 376 40% GHEAR ST | Srar<ereTe o fsamt
3T HIAEHTT STt
(A) 16% el (B) 16% @H &l
(C) 32% @H &t (D) SteT G

9. Tk T H 40% i Iy &l TE 3R 34k 916 40% =1 & 5 | T § g qiadq gfowrd @
(A) 16% i gfg (B) 16% @t =Ht
(C) 32% it =t (D) =g FeaTE A&

SPACE FOR ROUGH WORK
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10.

10.

10.

10.

10.

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years

(C) 50 years (D) 45 years

M A, B S C T 91T [P 22 727 IF B F C T T [P 25 729, (908 Gfeqq 2[l 9 I23q
foge A T 29

(A) 25 3= (B) 35 3=

(C) 50 T=s (D) 45 9=

M A, B 8 C-943 5T¢ T 22 I=F @R B € C-9F 9T T 25 77 2, ©@ 94 (AF 9 I=F
7 A-93 TP F© 2, W T |

(A) 25 3= (B) 35 32

(C) 50 = (D) 45 3IF

Sfc A, B 3R T 7T sEien 22 9ER A™ B AR C [ T S4ie 25 dGRse, 9 bR e
AT SEeT S S

(A) 25 =ER (B) 35 @R

(C) 50 =ERr (D) 45 =ERr

I A, B 3R C il 3f|d 31 22 a9 q91 B 3R C 1 30wd A1g 25 99 2, 1 319 ¥ 9 9 918
A Wl I J1d IS

(A) 25 Td (B) 35 a4

(C) 50 = (D) 45 =4

11.

The smallest among \F, \F, \F and \F is
2°\V3 4 3
1 1
0 o
1 2
© Vs ® 3

SPACE FOR ROUGH WORK
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1

[y

. \g \E, \EW\EEWWWWW
(A) \E (B) \E
(©) \/Z (D) \E
11. \g \E ﬁm&ﬁ—awmwﬂwﬁ“@
(A) \g (B) \E
(©) \E (D) \E
11. \E \E ﬁmﬁﬁﬁmww
w I o !
(©) \E (D) \E
1111 L e 2w g
(A) \E (B) \g
© \E (D) \E

SPACE FOR ROUGH WORK
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12. Iffzgzg, thenwis equal to
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
12. ﬁ%:%:?,m@“g”amﬂi’a
(A) 2 (B) 3
(C) 4 (D) 5
12. zﬁﬁ%:%:%m“i’”—mm
(A) 2 (B) 3
(C) 4 (D) 5
12. IR Z =Y 2 s XTYTZ o1 g wwim
3 4 7 z
A) 2 (B) 3
(C) 4 (D) 5
12. g XY _Z § XM YT i qum g
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
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13.

13.

13.

13.

13.

Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is

(A) 18 (B) 20
(C) 22 (D) 24

71 R 2 1 3 SIS B W Bieeq ol ALT, W #1309, A 96. IR GBI (9T

(A) 18 (B) 20

(C) 22 (D) 24

(% TR TS 2 ¢ 3 G O ST 8. &R F.B.-F BORFeT 96. I b CI5TFe] 25

(A) 18 (B) 20

(C) 22 (D) 24

A foemf ss@mn 2 ;3 oW fodii Qsnan. i g.snEn B wEseTE 96. o fowm
HFAH SRS &

(A) 18 (B) 20

(C) 22 (D) 24

T G 2 : 3 U H § 3R Ik HewH duTIadeh 3R STad quTIac 1 qUEEA 96 B ST
TR 1 A B

(A) 18 (B) 20

(C) 22 (D) 24

14.

14.

The value of ¥82 is

(A) 1 (B) 3
(C) 2 (D) 4
Ja2 ERICIEX|

A) 1 (B) 3
(C) 2 (D) 4

SPACE FOR ROUGH WORK
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14. J82-«g W+
(A) 1 B) 3
©) 2 (D) 4
14. 382 f mm
(A) 1 B) 3
(©) 2 (D) 4
14. {82 F1 WM 2
(A) 1 (B) 3
©) 2 (D) 4
15. A certain amount invested in a firm would become double at the end of one month,
but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is
(A) ¥55 B) TO
(C) ¢270 (D) ¥45
15. (I 9% TP dfovie & R[icel s aieg oge @3 4 g cRTeE 2@, 57

15.

fSRIMCOIcT Afoa & 799 2'cee € 120 FIfb e | G W2 92 dfovie & 105 e
FE E (Il S [l T TP 3 W2le bels T | 3 W2q WO ARSI Jo SR

(A) T55 (B) ¥0
(C) ¥270 (D) T45
@5 e ofgme o1 @Ffo =T 2fevien [RiFans T @F e[ e s 3w a7 8 ofe

fBegga €120 (I (ST || GFE fe € 105 [ @ @32 @i wfefie A7
RfScner <1 S 3 W @Y (@ 1 3 IO (G O (G SR 3¢

(A) T35 (B) ¥0
(C) T270 (D) ¥45

SPACE FOR ROUGH WORK
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15. T AN FHAEE T IHYAR T8 SR o TS BFA SET| TG™ BH STIhHe
HEAAT € 120 G IE A ARG | 98 GIST & BIA FHAEE & 105 SH IHT AR SHall 3
T BIeUeEH! for o @t g 3 @ifaar| g 3T e faerfy g s sme
(A) T35 (B) ¥0O
(C) ¥270 (D) ¥45
15. T% %H ° faw &1 € ww ffda iy v w6 o1 0 S | ST, dfe sEH g S W
¢ 120 it Tl F1e ot STt 31 Uk AR 70 ®BH § T 105 1 FHaw Far g iR T ot sifafe
Tfet = fra forg 3 A 9 S WA 21 3 HE o 31d H 36eh! 34 T B
(A) €55 (B) ¥O
(C) €270 (D) ¥45
16. The count of prime numbers between 80 and 100 is
(A) 2 B) 5
(C€) 3 (D) 4
16. 80 SF 100 T WE® SAFS (Tferd 7R (361 2
(A) 2 (B) 5
©) 3 (D) 4
16. 80 ¥R 100-93 W¥ SRFS (e 72yl M 2
(A) 2 (B) 5
©) 3 (D) 4
16. 80 MR 100 A TSRE AHe et AR &7
(A) 2 (B) 5
©) 3 (D) 4
16. 80 2R 100 & = 19T=g GEAtett it fidt 2
(A) 2 (B) 5
(C) 3 (D) 4

SPACE FOR ROUGH WORK
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17.

17.

17.

17.

17.

Find the value of [(107 +102)+ (103 +1072)]+10°.
(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102)+ (103 +1072)]+ 10° T I (g 55 |

(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102)+ (10° + 1072)]+ 10°-9g 1= foiefy et |
(A) 100 (B) 200
(C) 2 (D) 1
[(107 +10%)+ (10° = 1072)] = 10° f1 wH fag|

(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102%)+ (10° +1072)]+ 10° =l HH 1 =Hifsw)

(A) 100 (B) 200
©) 2 (D) 1

18.

18.

18.

If A:B=23, then 144A : 36B is

A) 4 (B) 12
(C) 3 (D) 16
I A : B =3, (93 144A : 36B 3 T+ 27

A) 4 (B) 12
(€) 3 (D) 16
M A : B =3, 94 144A : 36B-3 T 2

A) 4 (B) 12
(C) 3 (D) 16

SPACE FOR ROUGH WORK
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18. Jf¢ A : B =3, 3%l 144A : 36B T wrn
(A) 4 (B) 12
(C) 3 (D) 16
18. I A : B=3, dl 144A : 36B &l AH &
A) 4 (B) 12
(C) 3 (D) 16

19. The fraction equivalent of the recurring number 2-19 is

271 217
A) oo B) oo
99 99
219 291
©) on D) on
90 90

19. C7eee[fas R0 219 I FgeT B2 (2R

271 217
A) —o B) oo
99 99
219 291
©) on D) 54
90 90

19. WS YN 219 -G el B2 23

271 217
A) o B) oo
99 99
219 291
©) o D) 54
90 90

19. 2.19 SEARUTS AT SHNSH THH S @il 7

271 217
A) oo B) oo
99 99
219 291
©) on D) on
90 90

SPACE FOR ROUGH WORK
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19. 3Tadl F&A 2-19 w1 guged fia g

(A)

©)

271 217
e (B) =—
99 99
219 291
=7 (D) ==
90 90

20.

20.

20.

20.

20.

The largest of 26, 35, 4% and 5% is

(A)

(€
26
(A)
(®)
26,
(A)
(®)

26

(A)

©)

(A)
©)

26 (B) 3°

44 (D) 53

35, 4% 9/ 53 FAACHIHN AW WIS HLAICH! 2]
6 (B) 3%
44 (D) 53
3%, 4% @R 53-9q Wy ITEAH 29

44 (D) 53
3%, 4% 3 53 3 owE

26 (B) 3°
44 (D) 53
35, 4% 3 53 ° ga@ w2 B

26 (B) 3°

44 (D) 53

SPACE FOR ROUGH WORK
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21.

21.

21.

21.

21.

For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is

(A) Tn (B) 14n

(C) 21n (D) 28n

T B SR (RS (4l VT @ (S€ (TS qol Tl A NNCA BRI
SABFICOIE =7 3 #[1F T | A BIRCFeR b P 70 6. . =W, (98 *lewer 1060
9l PSSR FerE A2 (RB qe) wfowy Ffe 2

(A) 7m (B) 14n
(C) 21In (D) 28n

~

GF AT AEIRE (Fq 0¥ AW @ g6 ABICTe Aol 7ge e AN HIE fein
I

RG] Ao = | AW ARCICE B I 70 G WL =, ©@ 1016 A= wfiicwca ARt
o 91 g ([Worea) 2=

(A) 7m (B) 14n

(C) 21n (D) 28m

T ATEhal AT Jamte, fo deerat @= 2 Or fhfesen, famf amamen w= 3 arfifest| g
HEehal AT T@Enr 70 9. 1. SN, Stee Ueordl WH 10 UR fhfesan, @gehen 9@ MWH
(foewe) wrRaArTH?

(A) 7m (B) 14n
(C) 21n (D) 28n

T TTEfhd TaR o fau g <@ e R g @ qof Sefer % fore wmfeRa w1 swren ufean 3 ot
TS ST § | AfE TTEfohet o dfed w1 s 70 Wo Hio 7, @1 10 i Uefom # wwfera g0 @@ A
T g (He H) §

(A) 7 (B) 14n
(C) 21n (D) 28n

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-B 22



22.

22.

22.

22.

22.

The base and the height of a right-angled triangle are equal in magnitude and the
length of the third side is 2v/2 cm. The area of the triangle is

(A) 2 sq. cm (B) 242 sq. cm

(C) 4 sq. cm (D) 442 sq. cm

9B AT fage BN WiF TwoR 7 AN WIF PORCn! %9 vy 242 b, . | [Uges
AT

(A) 2 3 ¢o. fi. (B) 2+/2 2of (5. fir.

(C) 4 3sf ¢v. f. (D) 442 39 (5. 3.

GBI fagres o € Twor #Ifel A 97RO A2 ey 242 G1. . | fageioy
CPazre] =2e]

A) 2 3of @1, . (B) 2+/2 3of @1, .

(C) 4 3of 1. . (D) 442 3of 1. fi.

T WY e gYmE g I S Marer we i fafa 31y stmnfuft amsengan
242 @, fi. | & smEnfSremfy wifern

(A) 2=t @, fa. (B) 2+2 =t @, fa.

(C) 4 =t @, fa. (D) 4+/2 =i @, fi.

T THAI P 1 MR R 3T Sars aimor § seR @ SR e e st e 242 Fo o
31 Bt =1 & @

(A) 2 =t Fo o (B) 2+/2 &t Fo o

(C) 4 =t Wo o (D) 4+/2 =t Fo o

23.

In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is

(A) 35 (B) 42
(C) 49 (D) 56

SPACE FOR ROUGH WORK
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23.

23.

23.

23.

19 7/} SA8 TN GNP A (FICA GBI ARTTS BA® Al ARCANCAN I TRy wre«iz. oy
2’5 | SERE TR A2 761 A R0 91 2% | G2 751 A 2 0T (R

(A) 35 (B) 42

(C) 49 (D) 56

1 W@ 26q TR AISER I (A0 MG (&I A AR el 290 | SRABSR (AT
2123 7f6 12 Reave 1 27 | G2 7M6 MR 9 23

(A) 35 (B) 42

(C) 49 (D) 56

1 S JRSFAE I SHNSET AREEE T S SHSHTERE! SENAE S | AR5
Tmfs 99 7 ARG 9 TR | S WE 7 SHSETERE ST SrE

(A) 35 (B) 42

(C) 49 (D) 56

1 ¥ Y& B et AR geedt i geen #, ot 9w ged ger f St ¥ 9w 6 ¥ yew
7 et W fomm fifsw) 373 7 dwnett o A 2

(A) 35 (B) 42

(C) 49 (D) 56

24.

24.

Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is

(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

WOl R4 A ¥ B I @9 39 F@ C (o[ 909 | #7891 B7fe A 7[ B [l Ff 3sf
IS D (MR A | C~DF A SF BS 2 FCe AFRIMCH 273

(A) A(A+B) (B) 4A-B)
©) A4B (D) 4AB

SPACE FOR ROUGH WORK
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24

24.

24.

7 R A € B (F AU @l 91 W GR 99 T¢I C A I/ | AF! 41 A (A B [l
1 B G FEIpE qof PACe D NS AR | A € B-«G3 AR AR C — D (F 2™ F¢e 31

(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

A I B ERME IEEAH - FE & g m ¢ Anam | 3 H wifeE B @ A fwm
aW@ A o o & feg= D 9| C - D@ A R B fo@ema wRARrsa

(A) A(A+B) (B) 4(A- B)
() Af (D) 4AB

C UTH F3 & foTU ugat 3 §&A1sT A 3T B bl ST Sl @ qT 39ehT o1 TohaT STl & | 3Tl =R
A, AW ¥ B & 921 ST @ 3R D " 1 & fow 39 aftory =1 anf foean strar 81 9o ¢ - D
Fl A X B % ®9 H =% i TN

(A) AA+B) (B) 4(A-B)
©) A4B (D) 4AB

25.

25.

25.

Find the least number by which 1250 must be multiplied to make it a perfect
square.

(A) 4 (B) 3

(€) 5 (D) 2

Ty B AT 12509 7[99 FEce Qb1 7j<fqaf JR2y ¢l AR 2

(A) 4 (B) 3

(C) 5 (D) 2

T FR A AR 1250 (@ @9 FAcE o 99 A AN AW GAfp iy v |
(A) 4 (B) 3

(C) 5 (D) 2

SPACE FOR ROUGH WORK
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25. 1250 @ 37g 9 QAT S+ GG SAISHISH ST |
(A) 4 (B) 3
€ 5 (D) 2
25. 98 <Ia9 91 J1d i, @ 1250 1 v ot v s= o6 fore 1o form st =nfu|
(A) 4 (B) 3
(€) 5 (D) 2
26. When the numerator of a fraction is multiplied by 4 and the denominator by 9,
the fraction reverses. The fraction is
4 2
5 3
© -, D) 7
26. 95 TURE TP 4 (T IF 29 9 (F 779 Face SR 2ARSCAM Al IR | SEARXTHT (2=
4 2
(A) 3 (B) 3
5 3
(€) ” (D) 2
26. O3 SYRTE FACE 4 AR GR TACE 9 A B9 FA1 2¢e RN TCH AR | S 29
4 2
(A) 5 (B) 3
5 3
(C) " (D) 5
26. SsAl AN SEEER BHE! 4 S GFSTel SR gl 9 5, o siErerai=re 3o fifest| o

TG

(A) (B)

NSNS IS NN
N|w WIN

(€) (D)

SPACE FOR ROUGH WORK
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26.

o foRelt firet & o791 1 4 @ IR T T 9 ¥ TN FoRan ST B, A fw Soe st 2 g i @

(A) (B)

(€) (D)

NSNS IS NN
Nw W

27.

27.

27.

27.

27.

At what percentage of simple interest does an amount of money double in 12 years?

(A) 919 (B) 81%
2 2
o) 8l D) 919
(€) (D)
3 3

E @S (HICAl Joae 12 T2q9 T 139 2331 9] 7[eq 2 FA 277 M0 2

&) 919 (B) 81%
2 2

©) 81% (D) 9%
3 3

o1 T T oI 2T e 12 T=eq @B 27 2

10 lO

(A) 95/0 (B) 82/0
10 10

(€) 85/0 (D) 93/0

Y AEE! SR 58 g TR g3 9Heal 12 SHNE o ST B S
10 10

(A) 95/0 (B) 82/0
10 lO

(€) 85/0 (D) 93/0

TR AT o fohao TfTd T8 hig GFRIRT 12 a9t § SA[HT &1 STei?
10 10

(A) 9§A> (B) 82/0
10 10

(€) 85/0 (D) 93/0

SPACE FOR ROUGH WORK
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28. The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 (B) 2:9
() 1:9 (D) 6:9

28. 7! 69 PG ST 1 : 3. I8 YOI (FLF TS 27

A) 1:6 (B) 2:9
€ 1:9 (D) 6:9

28. Wb I0eT PN G2 1 : 3. IR (FIFCE SIS 2T

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
28. SEH A FEEHR TS 1 3. fom sl asmmE

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
28. 2 il i Brsnsti o1 Sgu 1 : 3 81 3Tk SEthall 1 IguTd 2

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9

29. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600

29. 1009 100% J 97 200 T 200% 9] FECE T 29
(A) 300 (B) 400
(C) 500 (D) 600

29. 100-93 100%-99 A 200-97 200% @19 FACET FoFe 2
(A) 300 (B) 400
(C) 500 (D) 600

SPACE FOR ROUGH WORK
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29. 100f4 100% 31T 2004 200% @ T=T=EsaT AT
(A) 300 (B) 400
(C) 500 (D) 600
29. 200 % 200% H 100 T 100% Sie 9 qROmH T8 8
(A) 300 (B) 400
(C) 500 (D) 600
30. If a+b=8, b+c=20 and a+c =18, then the value of a?+b? is
A) 34 (B) 43
(C) 46 (D) 64
30. I a+b =8, b+c =20 T<F a+c=18, (B a’+ b2 I 12’7

30.

30.

30.

(A) 34 B) 43
(C) 46 (D) 64

I a+b=8, b+c =20 4R a+c =18 T ©d a2 + b2-4d T 3
(A) 34 (B) 43
(C) 46 (D) 64

S a+ b =8, b+c=20 IR a+c=18, 3Tl a® + b2 1 A
(A) 34 (B) 43
(C) 46 (D) 64

It a+b =8, b+c=203ﬁ'(a+c=18,ﬁa2+b23h‘l‘=lﬂ%
(A) 34 (B) 43
(C) 46 (D) 64

SPACE FOR ROUGH WORK
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31. If 2* =32, then the value of x is
(A) 4 B) S5
(C) 6 (D) 7

31. Iw 2% =32, (B x I TN 2F
(A) 4 (B) 5
(C) 6 (D) 7

31. M 2% =32 7, T x-«&F T 2
A) 4 (B) 5
(C) 6 (D) 7

31. §fs 2* =32, 3 x4 7

(A) 4 (B) S
(€) 6 (D) 7

31. #fe 2% =32, @ x H AF B
(A) 4 (B) 5
(C) 6 (D) 7

32. The sum of 5 consecutive odd numbers is found to be 95. The largest of the
numbers is

(A) 17 (B) 21
(C) 23 (D) 19

32. 501 TS SYA RAA @9RFE 95 (A[I 91°F | FRACI2H[ SAG2OCF Tl AT (22
(A) 17 (B) 21
(C) 23 (D) 19

SPACE FOR ROUGH WORK
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32. 5 i S TR @9RFE 95 “NeAl (9 | FRASER T ITeAs 2
A) 17 (B) 21
(C) 23 (D) 19
32. HRA AF 5 o9 U IFANHGRA ST 95. FAFgs oA SHREET e
A) 17 (B) 21
(C) 23 (D) 19
32. 5 HAFd foun deaedt 1 9 95 U ST 2 | ged 9l e @
(A) 17 (B) 21
(C) 23 (D) 19
33. If the decimal number 34p5 is divisible by 9, then the value of p is
(A) 8 (B) 7
(C) 4 (D) 6
33. M ifiF W4 34p5 (B 9 F [o%y 27, (B pI A 27
(A) 8 (B) 7
(C) 4 (D) 6
33. I wifis W47 34p5 b 9 7= ey 27, 2 p-«d W+ 33

(A) 8 (B) 7

(€) 4 (D) 6

SPACE FOR ROUGH WORK
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33.

33.

Sfe Ttk SHET 34p5 @ 9 St TSI, e pf am
(A) 8 (B) 7
(C) 4 (D) 6

Ife Teeld §&T 34p5, 9 @ farsa &, @ p I AW B
A) 8 (B) 7
(C) 4 (D) 6

34.

34.

34.

34.

The maximum area of the circle that can be drawn within a square of side 4 cm is
(A) 412 cm? (B) 4n cm?

L 2 L 2 2
(C) —cm (D) —cm

4 4

4 (5. . g F9(CFq GO fooTe SfF *[ J€ GOF AW CFaFe] 27

(A) 4n? 3o . . (B) 4n 3o ¢5. .

©) %a%f . f. D) Fof (5. i,
4

4 1. . qEfRME i I6fcFea fooE SiFce |1 Jeed TET® CFawel 201

(A) 4n? 2sf &1. . (B) 4n 3sf 1. fil.

©) %aer . i D) ™ <o r. f
4

4 9. . JmEnfr T ity faema A g sea tfm wrfeE
(A) 4n? =t @, i (B) 4n = 9. fir.

© Tt D) ’faﬁa. fr.

SPACE FOR ROUGH WORK
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34.

4 Ho o MR & Tk a1 o i T S ol AT I 1 TR &% @
(A) 4n? =t Fo o (B) 4m =t "o o

(C) %aﬁﬁo o (D) ’faﬁ@o o

35.

35.

35.

35.

35.

If today is Sunday, then the day after 92 days will be
(A) Saturday (B) Friday

(C) Sunday (D) Monday

Tt o1& = 2, (oc8 92 e I frelchl 2°7
(A) @ (B) W&R

(C) dfRa™ (D) CTR™

M S AR =, ©rzeE 92 el #[cdd el 2@
(A) =fRE (B) W&

(C) == (D) CTER

Sfe feif o Feoem, steen 92 AWH 3@ | 9F SETH?
(A) ITER (B) ¥heR
(C) Toam (D) FWER

Ffe 31 Woar &, @ 92 et & &e 1 feq g
(A) HER (B) yhar
(C) eam (D) TR

SPACE FOR ROUGH WORK
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36. Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack

37. Which of the following punctuation marks is called ‘hyphen’?

38. What is the opposite of ‘sorrow’?
(A) Joy
(B) Happy
(C) Laugh
(D) Beauty

39. Which of the following means ‘o get rid of a problem’?
(A) To hammer it out
(B) To get to the bottom of
(C) To get the monkey off one’s back
(D) To get the acts together

40. Identify the grammatically incorrect sentence.
(A) I want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) T went to go home now.
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41. Choose the correct option :
Is your brother __ to the gym?
(A) gone
(B) going
(C) go
(D) went

42. Which pronoun is used for ‘non-living thing’ ?
A) I
(B) We
(C) Us
(D) It

43. Identify the incorrectly spelt word.
(A) Monkey
(B) Moniker
(C) Matress
(D) Molten

44. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

45. From the list below, identify the antonym of ‘cheap’.
(A) Price
(B) Poor
(C) Expensive
(D) Rice
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46. What is the synonym of ‘furious’?
(A) Laughter

(B) Witch
(C) Impure
(D) Angry

47. lIdentify the incorrectly spelt word.
(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle

48. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter

49. What is meant by ‘to get the green signal’?
(A) To stop others
(B) To go away
(C) To get permission

(D) To get the keys of a car

50. Fill in the blank :
Lokesh can jump very ____ .
(A) high
(B) higher
(C) highest
(D) tall
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51. What is the collective noun for ‘ish’?

(A) Swarm
(B) Pack
(C) School
(D) Herd

52. Fill in the correct conjunctions in the following :

Reshma Padma knew the directions, and now they are lost.
(A) Either, or
(B) Both, and

(C) Not only, but also
(D) Neither, nor

53. Which of the following punctuation marks is called ‘apostrophe’?

54. Which of the following means similar to ‘elevated’ ?

(A) Topped
(B) Wished
(C) Promoted

(D) Transferred

55. What is meant by ‘to create a ruckus’?
(A) Make loud noise
(B) An artistic work
(C) Produce music

(D) Bake a cake
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56. Which of the following sentences is correct?
(A) She had not coming to the wedding.
(B) She is not come to the wedding.
(C) She did not coming to the wedding.
(D) She is not coming to the wedding.

57. Choose the correct option :

We ___ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed

58. Which of the following pronouns refers to ‘myself’ ?
(A) We
(B) They
C) I
(D) You

59. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

60. Identify the correctly spelt word.

(A) Mongrel
(B) Marval
(C) Martal
(D) Middel
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61. Identify the preposition in the following sentence :
The cat was sleeping under the cot.

(A) Sleeping

(B) Under
(C) Cot
(D) Was

62. Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best

63. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran

64. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

65. What would be the antonym of ‘friend’?

(A) Foe

(B) Unfriend
(C) Dislike
(D) Buddy
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66. From the list below, identify the synonym of lament’.

(A) Sad
(B) Mourn
(C) Copied

(D) Molecule

67. Which word is incorrectly spelt?
(A) Basically
(B) Essentially
(C) Primarily
(D) Varbally

68. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy

69. What does ‘in a nutshell’ mean?
(A) Peanuts and almonds
(B) Very tough explanation
(C) Expressed in short

(D) Important discussion

70. Fill in the blank :
Tuhin ran __ than Zubin to win the race.
(A) fast
(B) faster
(C) fastest
(D) fasting
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71.

71.

71.

71.

71.

Which of the following mountain ranges is in North-East India?
(A) Barail Range (B) Shivalik Range

(C) Satpura Range (D) Aravalli Range

T (I R Teg-71 See SE[iwe ?

(A) T2 et (B) P=ifere orfosien
(C) ool 7T (D) SRR 2RSTE

eog RfeETMefE T (P Tegd SRS SRiEe 2

(A) RIS o (B) Prifers oo
(C) TS~ Rt (D) SRRfE “Hecat
e o ETSIHT AT T-HHST YA &7

(A) A TS AR (B) feranferer greimm wnfit
(C) wag BISIHT AT (D) R g @i

frafafad & @ -4t vda @ @R 9 | 37
(A) =R Zoft (B) fomarfere aoft
(C) wager Suft (D) 3Taett gdd it

72.

72.

Which of the following statements is incorrect?

(A) Lakshadweep is a Union Territory of India.

(B) Maldives is a Union Territory of India.

(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

~ SN

e (@ Tfe sreg 2
(A) FF@E SIeq Q9= (PR XPTS ey |

(B) WEal*l SReq @2+ (FIF *Hre ey |

(C) SR =< fCPIRa B1ol7)g ©Req g (IR =T Trey |

(D) “[SCh]1 Sl G4 (FI *FTS Jrey |
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72. TR @ [T wrem 2
(A) FFFRY SHCOT G0 (FEHOTS e |
(B) WeTalY SIRCed G0 (FHIfTS SeeT |
(C) S € FIFRE B1717]G SIS G (FHHOTS S |
(D) “[Moof THces €3 @FHAfTe S |

72. TEEM F9 fagfrm TR T
(A) @eIigaT WA T8 s e s
(B) HreAfgar Wit T8 st e TS |
(C) 3T=mH 3 fies sr fgwmemn vyraf 7 fres s gt |
(D) qgerien wraf T st s e

72. Tafafaa & @ ®F-91 %eF Tad 27
(A) T WA T Th heenida T B
(B) WIS WA %1 Teh hagliad JeT 2 |
(C) ieHH IR FRIER FITaHg MG 1 Th Had Je9 2
(D) GGl WA =1 U Hgriid e 2 |

73. The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which

continent?
(A) Asia (B) Australia
(C) South America (D) Africa

73. (LA TRIOMIE TCEC RN, TFAGFIG ([q41 SF FPoGIG (<1 #[19 ¢ CoI0 2
(A) «fe (B) wcgfer
(C) wfFa SICR<l (D) =N

73. R, TGS (@9 G FIOGIE (@Y (Pl TACCR T4 M oG FCACR ?
(A) @ (B) SCGfm
(C) wFFa SICRl (D) <=
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73.

73.

forgel B, TR BTGl AT e ST 99 SERETS et
(A) e (B) 3o
(C) @ret At (D) i
SR, TR R FEE R TR & e e 57

(A) weEn (B) wefer
(C) afeqor iR (D) 3THIehT

74.

74.

74.

74.

74.

Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland

RS @R ST ISET 93 AR 2

(A) TWISTRE (B) (IR SN2
(C) = (D) TS
s @G N FSACET G F1E 2

(A) TISTRR (B) T @l
(C) =eu (D) Aene
e J99T ARG FoTe TeTH T8 57 asi?

(A) HIGTTESR (B) *adt fgu
(C) Tram (D) THeivg
frefafad § & &H-81 9g% T5T WG &l U 519 T59 27

(A) TSTTRARL (B) ¥ g
(C) == (D) Iete
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75.

Sudden burst into the open of hot water and vapour from deep underground is
termed as

(A) geyser (B) volcano
(C) tornado (D) tsunami
75. DT SO “[1 SR A W Ao [RewReR wikaes fsfe @[ ARG (@E 2
(A) T o (B) wcafaie
(©) Befeet (D)
75. SIS $TS (AT TIPS [REHIAee! S o1 @R ol fsfe zexies e
(A) T omae (B) wesrifeif
(©) ety (D) S
75. Mt TRAEE T § g R % AERAEE! g8
(8) fog g (B) st it
(C) e (D) B
75. & o W gl § M I 3R AT % 3TEe |ed I el S
(A) T (B) SeemgE
(C) T (D) g
76. Which of the following is not a component of the Constitution of India?

76.

76.

(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre

(C) The Fundamental Rights

(D) The Fundamental Duties

e @ sRed FRReR Som w27 2
(A) B I o T

(B) (% Fov e SIfaFE

(C) (N =P

(D) CNfere T

TR (@D SReF MR w77 2
(A) MG ~ARDERE e T

(B) FcwF Mo wfieE

(C) CMfers Sz

(D) CTfers Ty
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76.

76.

TR sea YRa afsfse smerm a7

(A) TRETT Tl AreeTe

(B) Toreanfy farenmm wmemg

(C) TfeAT Horg

(D) et ST g

frafafaa @ & F9-a1 27w YR & afaum & T8 27
A) =7 % Fifg-FEves frga

(B) % % feweh TR

(C) Hifersh Aferepr

(D) Hifetsh e

77.

77.

77.

77.

77.

A continuous rise in the price level is called

(A) stagflation (B) deflation
(C) hyperinflation (D) inflation
T B9 G o (T 2T

(A) TRl (B) RIS

(C) = Jureife (D) Jurgifs

(A) frveTer-"RIfe (B) SHIfe

(C) e @i (D) Y@rIfe

o7 T AT S8 ITCTe R g8t

(A) TIHATH (B) fewrmm

(C) BTEIRERITH (D) FHRIE

T TR # TR gfg 1 w1 ar &

(A) TTRATH (B) fewrem

(C) TTEEFATH (D) TWATH
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78. What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

78. JEBR &AW G SfeqW (DAY-NRLM)® DAY & I&m 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

78. TTOR &Nl GIfTF 9 (DAY-NRLM)-9 DAY 1o Fi (@RI 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

78. TN ¥ ARWiIgs fHRE (DAY-NRLM)3TE DAYST HT ST ?
(A) feafeae safafafefa amr (District Availability Yojana)
(B) €HedTel 31=ded AisHT (Deendayal Antyodaya Yojana)
(C) dHeTa Tgafes® AsHT (Deendayal Ayurvedic Yojana)
(D) feufede wfawm= AsAT (District Achievement Yojana)

78. TEH U0 3Trsfifeet T [National Rural Livelihood Mission (DAY-NRLM)] § DAY
1 a1 27

(A) 5o 3uetsgdr JASAT (District Availability Yojana)
(B) dHITA AT AT (Deendayal Antyodaya Yojana)
(C) eI 3T|'35ﬁ55 pIEEI (Deendayal Ayurvedic Yojana)
(D) e 3uafsy BIEC (District Achievement Yojana)

79. Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori
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79.

79.

79.

79.

RS @@L TR 2 9932 (SAICE I FIRCR 2
A) ForgT (B) SPIIN® 19 (231 ST
(C) Ml 22 (D) AT &RSt

TR I TP ~mEl [3R (ORI A 2

A) Joew (B) 7@ I1F (ZFIET TINT
(C) Ffferg 2if2 (D) AT Gra

MR ¢ g 7T w=rsft & auet foremm?

(A) Feg=rT (B) 37HIHd SR 84T HHT
(C) Tl &ife (D) faft forert

Fafafga 9 9 H-91 Sg=ma g=sht T aun grn ot mn?
(A) TegorT (B) S/filgd SR &xreT HiT
(C) TIEfer &gt (D) £ ot

80.

80.

Which of the following is not a Central Armed Police Force of India?

(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)

(D) Central Industrial Security Force (CISF)

[ =Y

RS @ SRS (TR R W AR =T 2
(A) SEER T TRl (ICG)
(B) ™FF S 9 (SSB)

(C) JBR 5T a6 (NSG)
(D) &R Smife farerfzal (CISF)
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80. SICod (PG CIRCeH (FTR 3E ~Jfor=ifaa =% 2
(A) SRR T TRl (ICG)
(B) [F ST 791 (SSB)
(C) B I o6 (NSG)
(D) &I S frrerfzal (CISF)

80. TEMM &1 YA e SR Tty g J=7
(A) zf<am = mE (ICG)
(B) & fomr s/t (SSB)
(C) FvHa fafesfife mE (NSG)
(D) ¥ gerfesder fufsshif v (CISF)

80. fm=faflad & & F9-w1 wRd &1 Sheiw v Meft o & 77
(A) W deterss dd (ICG)
(B) 43t M1 97 (SSB)
(C) Ug gran mE (NSG)
(D) s 3frenfies granm s (CISF)

81. What is the chemical symbol for silver?
(A) Ag (B) Si
(C) Sv (D) Au

81. F°[[ IPAMS AFe F 2
(A) Ag (B) Si
(C) Sv (D) Au

81. TF IMRF 2CIF i 2
(A) Ag (B) Si
(C) Sv (D) Au
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81. ¥ T fefraferm wr?
(A) Ag (B) Si
(C) Sv (D) Au
81. wIdl = TEEF g = 27
(A) Ag (B) Si
(C) Sv (D) Au
82. Who is the President of the USA, as on 1lst of January, 2024?

(A) Barack Obama

(B) Donald Trump

(C) Joe Biden (D) Rishi Sunak
82. 1 WICI[l, 2024 AMCCTH SCAD ST F7f I 2
(A) TR S (B) (TS G
(C) & BCe (D) AR 5
82. 1 WA, 2024 C7CF Tiide Te<NE A18°IfS (P 2
(A) T S (B) CCMIT G
(C) C= AT (D) 4R I
82. 2024 WEUTEH 1 STgATR Qfctem STHIER STUTE BTe gERATET 9r?
(A) SRR 3TEHET (B) &Tes T
(C) ™ smged (D) Teft g=r
82. 1 S, 2024 ! T T JTHIEHT 1 TFUfd ®HH 27
(A) ST AT (B) SMTee 28
(O REIREES (D) W g
83. Which of the following is considered as the powerhouse of an animal cell?

83.

(A) Nucleus
(C) Ribosome

(B) Golgi apparatus
(D) Mitochondria

ffee @=oR A @R *fes Sqe Tl [Reava w1 =7 2
(B) &I’#1% kY
(D) w2 e

(A) &FF FF
(C) IR'&T
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83.

83.

83.

TqEF @FEHE A @I *feq ToT 2o [eawen w41 272
(A) ferefFas (B) oI I
(C) RS (D) TRCHIFIG
erE seE e Sl amm M aifg g8 ffam sme
A) Fefa e (B) TaAfST Tiegw
(C) TEga'sH (D) T3 iz
frferfaa o @ fFd agy FIT3TRT 1 JTeRETSH WHT ST 37

(A) THsh (B) Tiesft @
(C) Tgdrdm (D) TSI~

84.

84.

84.

84.

84.

Which of the following countries does not have a seashore?
(A) China (B) Afghanistan
(C) Myanmar (D) Iran
e (e orre SeRE Tegel iR 2

(A) B (B) SIRFalfersr
(C) =TT (D) 2

TR @ oI @D (1R ?

(&) B (B) el
(C) TRIFTE (D) 2=

RINRIE I E R G AR I 21 6

(A) =M (B) STHII-EH
(C) =ER (D) st
frrferfia § @ frm 3o wgEae 4 27

(a) == (B) I
(C) MR (D) A
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85. The world’s largest island Greenland is a part of which of the following countries?

(A) Denmark (B) Sweden

(C) Canada (D) Iceland
85. 7Jf{Tq 32w A7, AMCeIs @R PR = 2

(A) (T (B) peCTA

(C) el (D) SII2bCee
85. Rces Iz A7 ATl (FI (TR =] 2

(A) (T (B) F2cun

(C) =rrel (D) ST
85. ggaM e 5w fircrer 9« gerf amem?

(A) ST (B) gz

(C) =rTeT (D) 3TgwetS
85. foava =1 o=@ &=t €W, ficie, fh 3w o1 v 87

(A) <R (B) wfred

(C) =TT (D) 3MEHcie

86. What was the last capital of Ahom Kingdom?

(A) Charaideo (B) Jorhat

(C) Rangpur (D) Garhgaon
86. (BN MHCHT CRACH! Iealell & ifee 2

(A) SRS (B) @=2%

(C) 71 (D) rwalls
86. (N AGCEA CF AG (FAD e 2

(A) DarEwS (B) =21

(C) To| (D) srealle
86. 3T LS ST TSILTE AT T ?

(A) =rEed (B) SRETd

(C) TR (D) T
86. R ST hit 3ifqw Twer w-dt ofi?

(A) = (B) Sitere

(C) T (D) Tt
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87.

What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita

(B) Jakoimoti

(C) Kherxuti (D) Soirindhri
87. T XA Jo! TzO[Fq A & wifee 2

(A) wIECre Szl (B) wewe!

(C) 7Sl (D) Cife
87. TB *RIFACIA PrerEE T i fee 2

(A) =IRwe wiEe! (B) Wl

(C) c=r7el (D) Cifs
87. »fim=a wieRaaty farelfy ge1 AmE?

(A) 3TEIEE STTET (B) STehmfd

(©) e (D) fee
87. *fivd TieRed =l It 1 A AT 977

(A) @TEe 3TEAT (B) STehrgaTdl

(C) wgdt (D) &feh
88. Who was known as the ‘Lion of Mysore’?

88.

88.

88.

88.

(A) Adil Shah

(C) Krishnaraja Wodeyar
TR PR (I STeTS ife 2

(A) =TfweT %=
(C) S TWIE

@ TR iR’ qee Ao freer 2

(A) =Hfwet =2
(C) FST&N S

R ‘mrgert fog’ e fHfesmme?

INBELESRIIH
(C) FORST IR

TET % R o W Y TR ST S on?

INBE USRI
(C) FURS AR

(B) Hyder Ali
(D) Tipu Sultan

(B) Z3wq wifer
(D) 157 per@rm

(B) 2RWIEH
(D) b7 eTom

(B) ®BIEaL ATt
(D) fag gear

(B) TR 37t
(D) &Y Godm
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89. Which State of India has Jallianwala Bagh?

(A) Punjab (B) Haryana

(C) Rajasthan (D) Uttar Pradesh
89. TROIRA (FI(DI ACT® HICRFRRRIS Fe 2

(A) ~lgR (B) =@

(C) e (D) Ted AW
89. GIfRINS A9l SRCSH (e AN ST ?

(A) “NGR (B) =@

(C) Are®= (D) Teq 2w
89. SfIATETT S YRAN o T3S &7

(A) TS (B) =M1

(C) TSI (D) 3T Yo
89. SfcTaTedT ST WRA & form =g o fedra 27

(A) TSI (B) efmm

(C) TSI (D) 3T Yo

90. Which of the following countries was a part of the Axis Group during the
World War II?

(A) England (B) Japan

(C) France (D) Soviet Union
90. TSR fPugma TS RIS (FAL o™ oFF Collba SIemI SifRe] ?

(A) ZeTe (B) w74

(C) =™ (D) CRIfeEb ZTferm
90. TCHa (I T (TG oR Resgeas T SEeefes o e 2

(A) 2TTS (B) Sl

(C) F™ (D) ol ey
90. A Y IEETH FHE MERTE ST Fe 8160 Tfrad BT STeFTH ¢

(A) st (B) STIH

(C) ®H (D) @i 33fem
90. FHfRad & & wH-|1 <1 f5di fovags o A gi |z =1 e o’

(A) ¥ (B) S

(C) wE (D) ifoa a9
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91. The ruins of Angkor Wat are in which country?
(A) New Zealand (B) Indonesia

(C) Vietnam (D) Cambodia

91. &Y 69 LTI (IO (714 2
(A) fEfecere (B) TSR
(C) fecapam (D) FcFife

91. HICH-EF FITAC (Fle| 0 CZ ?

(a) frefeene (B) ZcwalrE
(C) feTree (D) wcFIfe

91. 3T I1dH FEET SRS §d 8ol &7
(A) Fefoe= (B) 3= <R
(C) T (D) o feam

91. 3THR ¢ % Weel fore <31 1§ 87
() =Isieis (B) SSHRwEN
(C) ferraamm (D) et

92. Which of the following countries does Assam share international borders with?
(A) Bhutan and China
(B) China and Bangladesh
(C) Bangladesh and Bhutan

(D) Myanmar and Bangladesh
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92, RIS FMER (™R PO P SBEeF FANEEL oK ¢ ?
(A) SO S B
(B) BIF 1= q<eTT
(C) AP SIF BT
(D) IR S FILETCH]

92. T @ (PIfe] SPIHT BT AT 2
(A) TOF € B
(B) B € e

(C) ETH € THI

(D) SRR 8 I

92. M o6l TRRS RSN FHAT THeTm ¢
(A) qTH 3 =
(B) = AT sTetmes
(C) STEaRT AR YA
(D) TIHER AR TR

92. 3gH frafafaa & @ o5 <9 & w1y i dimn aren s 27
(A) e 3 =
(B) < 3T aWetTes
(C) STATERT 3R eH
(D) IR 3R IEATGH

93. If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East
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93. I 3= R BARI 271 SO Coea olie] TR N2 Meg, o [u@ @t fmiest TR
107 ?

(A) wFFeR #[1 qCa
(B) =< *[1 “ABwCaT
(C) P53 #I41 7[Cat

(D) TES #[1 7CeT

93. M b [T (vaf2 (AP BB e TP Tee AR, O3 @i (@FnE Tuce ?
(A) wfEFel (e o1 mes
(B) & e “Foumes
(C) 6% (e o me
(D) Ted (AT M

93. T for@ =1 Jfe JARMHEE AR oS oA Hal, 3t fo= @1 foma foxai?
(A) EIATHER AT
(B) TSR FHTEIY
(C) TFTEHER TS
(D) HTETHET AT

93. e I gaé Sl == ¥ WY TAEE I AR I W @ B, Al 98 fHu fewn # sgM W @ Y
(A) 3feaor € gd A AR
(B) 9d ¥ ufvem &l AR
(C) ufvam & gd i 3R
(D) 3T & 9d il AR

94. What is the Westernmost State of India?
(A) Rajasthan (B) Punjab

(C) Maharashtra (D) Gujarat
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94, TROF G2 oo AF ET (T 2
(A) ETE
(C) T21g

94, TS “IFETeT AT (FD 2
(A) T
(C) w==1E

94, VAN GHTE S TSI o« ?
(A) TsTEAEH

(C) HETE

94. WId I G Uiyl T hiH-91 87
(A) TSR

(C) HEE

(B) 7GR
(D) @6

(B) “N&GR
(D) S&AH

(B) dr~Ts

(D) TS

(B) USI&

(D) TS

95. Which of the following peaks does not belong to the Himalayas?

(A) Annapurna

(C) Anamudi

95. fFfIR® (IO 291 R w@sfe 7= 2
(A) e
(C) wrrfa

95. TTox (I oL R w@af© 73 2
(A) e
(C) =W

SLRC—2024/P-111/ 1-B

(B) Kangto

(D) Kamet

(B) IO

(D) <FlcT®

(B) IO
(D) I
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95.

95.

et 59 et ety e

(A) g (B) id’
(C) ewmfe (D) iz
forferfiga & & F-th 92 e @ wafoa T 27

(A) g (B) il
(C) et (D) e

96.

96.

96.

96.

96.

The Great Barrier Reef is located in the seas near which continent?
(A) North America (B) Australia

(C) Africa (D) Europe

I SRR TN 9 2R 206 2D S[fEs 2

(A) Teq S (B) wwcgfomal

(C) IEFl (D) 3T

2R 21 2 (@b WRAE ) (@I TRIwed Fehad! Ten 1w 2
(A) Teq SR (B) SCGfeml

(C) TRl (D) T

U2 IR e o greraT @nfaf duerE €7

(A) T AT (B) refern

(C) fshet (D) 33

U2 SR % g werE & e aqz | feod 27

(A) ITE TR (B) aAfeferan

(C) kTt (D) T
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97.

97.

97.

97.

97.

Which of the following is a mountain range of South America?

(A) Andes (B) Karakoram
(C) Alps (D) Caucasus
fTRfeT® (PICH! 7= SERFR @3 o= 2

(8) dfem (B) FEICHRN
(C) z= (D) <CFolR
TR @D 7w SRR G0 ARG ?

(A) rfre (B) TR
(C) =me™ (D) =R¢F*T
e T=9T T ARSI BT B ?

(A) T (B) RIHH
(C) TeuH (D) FHHEm™E

Frfafea & @ ®H-H gfaor smfen & veq JEen 87
(A) TEN (B) HRIHIH
(C) 3o (D) I

98.

98.

The giant waves caused by volcanic eruptions or earthquakes under the sea are
known as

(A) tsunami (B) cyclone

(C) blizzard (D) landslide

A Sfere (@[ SRR Tratad w2 1 Sz 2 791 328 (Bl ([ =
(A) Pl (B) FI-S=ail
(C) wa~Te (D) g
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98. T > SCAPIRE WP A1 $RFC= Tl 7 T2 ST @l 2

(A) (B) e
(C) u=® (D) SR
98. Wl et 1 HiEl SIS TS SRHTEARIST HH{SHTT et Srarhra! ESH
(A) g (B) aTHIETE
(C) R sTgEn (D) =1 FrfmmmE
98. U5 % 19 SaragE foEe =1 oy % w0 I faeTer a R kel San ®
() g (B) =rhaTd
(C) SHHT q®E (D) FETH

99. Who is the Chairman of the Rajya Sabha?
(A) The Prime Minister (B) The Vice President
(C) The Speaker of the Lok Sabha (D) The President

99, JIEPTSH TLF (Flel 27 2
(A) 2yeTE) (B) Toagefe
(C) GTFTSR L (D) Fg7fe

99. AGPTSR S (F 2
(A) 2aa (B) ToRgeIfe
(C) CEIRPTOR SYF=F (D) Zfe

99, [T YT SATHIEATET Tr?

(A) TTETE HAR (B) TIeT3 BERATR
(C) g el glufii (D) TTERATR
99, TSI HHT 1 EFET BT Bl 87
INB:EERE (B) Swrgdfd
(C) ARENT AR (D) Tgafa
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100.

100.

100.

100.

100.

Who administers the Oath of Office to the President of India?

(A) The Prime Minister

(B) The Chief Justice of the Delhi High Court
(C) The Chief Justice of the Supreme Court
(D) The Speaker of the Lok Sabha

SIeq UG (FIC 71O #[15 FCIRT ?
(A) T

(B) &l Tob HRICRE 25 BRI

(C) TooeH ST Y25 A

(D) EIRPTOR S

(F SACA AFYNSCS 7= 710 FA ?
(A) @y

(B) fr&lt T IR 24 f{1Reife
(C) TN TR 2y [kvmeife

(D) EIRPTOR S

IRa RRMRA foem arefard 9 arE?
(A) TITETs 7

(B) fegh it fafsrenfafy e foemama

(C) i fafsrenfaf memw femmema

(D) g et gfafif

9 o TP ol g 6l 399 i feermar 27
(A) TaH Tt

(B) fagt 3= =mamer & g =

(C) Har= =™ & &I =R

(D) <IRET &8

101.

Which of the following musical instruments of Assam is usually made of bamboo?

(A) Doba (B) Mridanga
(C) Dotara (D) Toka
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101. FIAfERS SPNT IMEEPTNRS (FICH! MURECS qeed fF e ?
(A) wdt (B) st
(C) CTreal (D) B
101. o SfEfe SR (v IMRED MaRere I ey (ofF 23 2
(A) TRt (B) ¥
(C) eIt (D) Il
101. TEATE BHE AEME o« SHsdl Sfiarsi S ?
(A) = (B) ga
(C) < (D) et
101. f=faftad § & 16w 1 Hi9-91 Giid ST SAHdR O 919 9 o4 8id1 27
(A) == (B) ga
(C) =T (D) ekt
102. Where is the Tocklai Tea Research Centre located?
(A) Jorhat (B) Lakhimpur
(C) Tinsukia (D) Dhemaji
102. (GIFE3 B2 SIEE (FF F°C IS ?
(A) == (B) ==~
(C) fefpmm (D) CIfe
102. (G2 B I (% (FIAF THES 2
() @=ED (B) =IE7j
(C) Toprm (D) c=Ife
102. Tz 9rel TEfafor wEuET &I g °
(A) SEE (B) @&fHgL
(C) ferrgferam (D) &St
102. 2hcllé =T AU Frs el fEd 27
(A) SER (B) R
(C) femgferan (D) &St
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103. The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?
(A) Uttarakhand (B) Himachal Pradesh
(C) Maharashtra (D) Uttar Pradesh

103. (oNfi™ S+ FRIRT 9Ol (ol AT (27, (P qeTS ShTS 2

(A) Teqre (B) fesmet aiom

(C) T=2=1g (D) Tex dom
103. el (2, (oM™ S3= FRGER G0 ©lol, (Fle TS AT ?

A) TeAEy (B) f2smet eicws

(C) w218 (D) Teq 2o
103. Tfs< wad w798 @i Tidr JEn S9 TEsiee €7

(A) 3TETE (B) Temm=rat wewm

(C) AEmg (D) 3™ Y=

103. Tfar Y, Mide Yaa FEias H Uk 3w, fhe T 1 for 27
(A) STHES (B) femmra yam
(C) wEmg (D) 3T 9T

104. An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called

(A) Freedom Hour (B) Lunch Hour
(C) Zero Hour (D) Party Hour
104. SHOR AW (IFIC G5l g SfcaeTe el seia sifkzee o0 /fwg s Swee 39 A
9 SR AT GED] TS [ e (1 = 2
(A) = T (B) SIS e
(C) T e (D) welR et

104. (I G5 oot S senipletel @hfb e 95m 74 2h/ Remefel e somwm o w@elfe

(A) FE= (B) NZCSTSCTA F1
(C) U <TeT (D) weTare el
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104.

104.

RAM H9ed gFafH SYFEE SRl 99 Seoll SEfasmn |ify/smEerdr R fafEierersm
Torar BN, o e | g

(A) Jeite T| (B) AFSNGH 3TER &

(C) wfora’ &\ (D) T &H

IR w8 § el vk o7 o &= § for Forelt 9@ g % T/ 3oTT ST U aTel 39 T e
1 el S @

(A) T et (B) HEATE-HISH w1

(C) A 1A (D) el i

105.

105.

105.

Who is the Chairman of NITI Aayog?

(A) The Finance Minister

(B) The Prime Minister

(C) The Governor of the Reserve Bank of India

(D) The Vice President

e (NITI) SIS ST (F 2
(a) fre @

(B) zra

(C) SR Rers @ 917efq
(D) Treigeife

TS (NITI) SRR S (P 2
(A) e =@

(B) zaragl

(C) SHeR fare WeEs e
(D) ToEAfe
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105. ifa (NITI) =T sTerefien |e?

(A) T =g

(B) TETs 7

(C) Wty femed siepfy MR

(D) ©$TE TRERATR
105. Hifd (NITI) 31T 1 31e9e] i 87

(A) foa wht

(B) v Wt

(C) W fisrd Sk 1 Tt

(D) 3wt
106. The Numaligarh Refinery is in which district of Assam?

(A) Sivasagar (B) Jorhat

(C) Golaghat (D) Dibrugarh
106. <[REISTS LIS SPTNS (Pl fereiie wefes 2

() FreTem (B) @<=

(C) CaeTraID (D) fe@sre
106. 9IS CHLAIANR SPTCH (FIe (eI ST 2

(A) TAeTeR (B) Q=26

(C) comeT=iG (D) fegore
106. MM JARHTS oM@ ARETerl J6 S g7

(A) ReErR (B) SRer

(C) e (D) fegms
106. JATCTE bt 31em = form forat # feora 27

(A) TR (B) SiEwe

(C) e (D) fegm
107. The international festival Kullu Dussehra’ is celebrated in which State?

(A) Himachal Pradesh (B) Uttarakhand
(C) Uttar Pradesh (D) Haryana
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107. IE1OF T T W1 (Pl TS [T T 2 2
(A) T2 erom (B) Teaids
(C) Tex o (D) =R

107. S(BE1F THE “Fa TRl (P A0 AfeTe 27 2

(A) feameT 2w (B) Tware

(C) Teq 2o (D) =
107. TSR BRAT Fg SR @l a6 TSI BT ST ?

(A) femme g (B) IT@TE

(C) W Jem (D) e

107. SREHE ER g U [hE TsT H A STl 87
(A) Temmea wewm (B) IT@S
(C) W Y= (D) wfemm

108. The Bering Strait separates which two landmasses?
(A) Australia and New Zealand (B) The USA and Russia
(C) South Africa and Madagascar (D) Japan and China

108. (A< 2N (T 01 PIGF F2F 0 2
(A) SICEfm =i Wefeers (B) SR J&A1G S MR
(C) w=Fa SIF S TWISTZR (D) A A DI

108. (AR AEl (P 4B FoTelaid 72 e ?
(A) SogemE ¢ fefeEe (B) i1 g&=1g @ A
(C) wHFa Sl 8 IWISRE (D) ST 8 Biw

108. SR TT-GSITeT o6l WA E-Wiaral srarE?
(A) refern smi fefoere (B) 330 THo o TR AT
(C) e 3T(HehT TR HETTTEHT (D) UM AW =4
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108. <fT Serafa fofd a1 -mm ot 3Ter w27
(A) sTiefern 3R =ficie (B) GYh T TG 31K &4
(C) <feaur ThiehT 3R HSTTER (D) UM IR =+
109. Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan
(C) Joi Barua (D) Maitrayee Patar
109. *5PIE (FIEC (A1 ST’ Aot AfePE (Pl 2
(A) O TFam (B) Ty Bl
(C) && I (D) CCan! “Mea
109. *FIS (PRI NS SeTweri” il (P feTee 2
(A) T f&FHa (B) “Tifery w2
(C) & I (D) CCan! “Teq
109. IFUS HieR GHME Al B gfifer ar?
(A) T fhaa (B) HIf=e s
(C) ST s&al (D) TRt 1eX
109. IFHUS HieR FH M T ‘STl Ma fore forad ?
(A) T TR (B) wrf=rear g
(C) S =& (D) Tt uTeR
110. The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika
110. SPRIEES (@I FIRA! (&4 9¢ 2SI AT 1 <5 2

(A) T 9 (B) “@ = (ol
(C) @ (23 (D) [ bF (TP
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110. SR (MG SR (@146 g AR 2 71 F 2
(A) T F[I (B) “ik@ = (TPl
(C) 2AE (23 (D) F 57 F&IHI
110. A fyer fomn = 7 fewr o) g1 w17
(A) EF ST (B) |fer FHR I
(C) f&a et (D) P& =5 B Rehl
110. A YR crae 1Y gl i TEet W @
(A) "I S (B) ufer FHR S
(C) T&= mmeré (D) FHE ¥5 TSR
111. Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?
(A) Nabakanta Barua (B) Hiren Bhattacharyya
(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta
111, “TEME 2878 w28 NS g 2[R9 e ferfiee 2
(A) TR I (B) 2 SHIHRA
(C) ST *2PR (D) =l T 7S
111, (RG0A ~BF NBHE 227E T2 F[ @191 ?
(A) TR I (B) 2ca SHHR
(C) Sam <R (D) STl FHE 7@
111. T ETRRE foeE wa- R g5-d 911gE @l 9r forai ?

(A) TehTd SEaT (B) f& v
(C) el TEfeha (D) 9 FAR I
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111. S=A1 il Ik, WMArTE TPy Hegy fohad fordt?

(A) TeeRid & (B) T vz

(C) weg =1 Afern (D) 3T&T FUR &
112. Kanchipuram Saree is produced in which State?

(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Telangana
112, FIf%5[ES =T (Pl qEre T 51 = 2

(A) CreT B) © T T

(C) Fefios (D) CSCERAM
112, FfesEw *fY (Pl qMCey TeAiwe 27 2

(A) AT (B) wIfs@mrg

(C) F5% (D) CSCeTR
112, FHIf=qe | 6l TEseTd fogHi?

(A) ST (B) mfirerrg

(C) i (D) TR
112. YW ATt 1 IcdTe foh| Tog 8§ grar 27

(A) (B) dfeTg

(C) Tl (D) T
113. Who among the following was a famous painter?

(A) Vincent van Gogh (B) John Lennon

(C) Bob Marley (D) Marlon Brando
113. fRfERe @R e e bas oifes 2

A) TS5 = o’a (B) & (&

(C) 27 west (D) wrcsfi Acel
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113. oA & gFe [rre foar! foeem 2
(A) TSI i Siol (B) & (&l
(C) = e (D) ST ATCel
113. TERETE TFE AR G YeraT QiE AT ¢
(A) Tireee 97 ™ (B) S o=
(C) =& W (D) WIEH S8’
113. F=fafaa @ @ =9 v ufeg feer ar?
(A) Tage 3 (B) SItA oI
(C) el Hred (D) WieH 2
114. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent
India?
(A) Lawn Bowls (B) Badminton
(C) Carrom (D) Judo
114. SpRE SIfREl (YR S REle BIRZ (@GR (o7 e dfsfiiag B 2
(A) A (B) ofiroa
(C) &% (D) Tl
114, e ool GBIy @ae *Terfel *BPE (I (<@ ©eed Afeffag e 2

(A) T < (B) TS

(C) N (D) sl
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114. STEME QT NG ST FIA TR YRa W a1 e ?

(A) TH = (B) efirea
(C) (D) I
114. @n 6t aren Sted SR T dfn e ga @ vyra & gfafftes wd 27
(A) @ afa (B) defieq
(C) (D) =t

115. Identify the Badminton player.

(A) Dipa Karmakar (B) Pullela Gopichand

(C) Sania Mirza (D) Leander Paes
115. (OB (ERERIFE orire 5 |

(A) T FHE (B) “[cawTl Conatow

(C) w=ifera vt (D) fEem e
115. TS0 CICETRIECS iz 50 |

(A) TN FAFE (B) “[CseT calFiom

(C) fern et (D) ferEeR (1&
115. defiees e femfy )

(A) €T FHHR (B) Geiet Tt

(C) @t furst (D) ferre |
115. defied faardt =1 gt

(A) T FHHBR (B) Jeiall =g

(C) @t firstt (D) ferier T@

116. In which sport did India not win a medal at 2020 Tokyo Olympics?
(A) Boxing (B) Weightlifting
(C) Taekwondo (D) Wrestling

116. 2020 5P SI~7[F9 SRCS (PARY (TS (P 7 e 1 Aee ?
A) IET= (B) SICACSIET

(C) SRS (D) &=
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116. 2020 GIFe TRFHF SIS (FIe (LR AMF (SO 2
A) = (B) SIS
(C) BRI (D) 3%
116. 2020 ARATEM 2Rt fcaftes SEREEARETE AT 6 ToHTTd Bed MR ?
(A) et B) fifer Smrm
(C) drgehar=’ (D) EHARMT
116. ¥RA 4 2020 2w 3Acifus ¥ fohg O § ues T2t Ssfiar?
(A) Tt (B) wRIdIeH
(C) RISl (D)
117. The Diamond League is an annual series of competitions in which area?
(A) Swimming (B) Badminton
(C) Gymnastics (D) Track and Field Events
117. IRF 2AfSfae™ *R4e TN ¢ el (FERY (19 OTCS GIvw ?
(A) TcoR (B) (Ol
(C) femgnfEs (D) G o< fFmq (4at
117. R aferaiiorer e TRNS e (@ (e A IS 2
(A) TerR (B) ITCRIGA
(C) Terremoe (D) I @R fFeeeq (e
117. 990 SRR TEHARAEN SR SPmue form e Telmst it 17
(A) "HfEAE (B) ssfied
(C) fomHfes (D) ¥ TR HIUWTE TR ST
117. TEWE o fopd @ § fqeifiarstt &t ueh anfie e 27
(A) TR (B) Ssfiea
(C) Tommfeeaa (D) & 3R Fiog T
118. Identify the incorrectly matched pair.

(A) Stefan Edberg : Cricket (B) Bjorn Borg : Lawn Tennis
(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football
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118. SRS Aol &9 R oo 5 |

(A) T2 auasf - f&eh (B) fEe1 @9f : 7' (Bfevm

(C) Bi2aa Tuw : oFw (D) BRI @) « Foae
118. eToICa (eI (SOl e e |

(A) COFFF qwdlsf : fFewb (B) fa1 of = o1 (Bfemi

(C) Bizaa TTH : o (D) TEFFoAIG @MICST : Foae
118. T SEEE™ ST o9 |

(A) feewa ugam : foore (B) =4 & : o 2w

(C) 2TER 3gH : Teh (D) ffEam’ THee’ : Fead
118. Td GHTOA SIIg I Tg=THT |

(A) TR Teent : fohehe (B) = @it : tq 2

(C) 2TeR g&d : Meh (D) ferfeeamt TATee! @ Feard
119. Where is the National War Memorial located?

(A) Srinagar (B) New Delhi

(C) Tawang (D) Amritsar
119. JER & o4 '® w@izs 2

() s (B) o frg

(C) D (D) So7<
119. BRI TR =RF (FIAR {ES ?

(A) e (B) =TT firall

(C) wIeaR (D) SR
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119. A3 IR 99 e o1 €7

(A) TR (B) e fagit

(C) e (D) TIaE
119. T Ig WRH wel o 27

(A) HAm (B) =& fegt

(C) TamT (D) 3TYAR

120. Which of the following is the Mission Basundhara of the Government of Assam
related to?

(A) Fishery and livelihood
(B) Women empowerment
(C) Land records and land revenues

(D) Digital education

120. HRIRS @GR e PN b3S Nee Pl (e 2
(A) ST SN S
(B) 2wt >Repael
(C) Picersy o< B qrerg

(D) TS P

120. o (PG 0o SPT FAICHT PTRA| 2Pe Go© ?
(A) TR @ G
(B) = SN
(C) gf¥ Tt @ g AT
(D) fEfEore Mo

120. THW TWERH e Sg-awm@n MeE /1= amar 37
(A) T BRa IR ™= T=
(B) TSI TRIT WA
(C) BT-XEI TR BI-TWSIT
(D) fafsieet wetions
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120. 3799 ¥R &1 e sgu fefafad & @ frag gafa =7
(A) HEIUTEH AR TSffaeht
(B) Wfge Trfehentor
(C) ofw stfyer@ 3R W Tsa
(D) fefea fatan
121. Which of the following organizations is not in the business of commercial vehicles?
(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors
121. FRfERS @R Afovr e T TEmRE #9e Sive 7=y 2
(A) =Ce 9% 5T’ (B) Wzwm 9w wZm
(C) ¥ Woag (D) BI5T o=
121. ood (P Ao ifafers TR T I 73 2
(A) FHEH SIS G (B) fzml = Wifzm@
(C) G W5a (D) Bi5T G
121. TEAEM J& FHAMT AR Hok MR =17
(A) TET TR T (B) HAfe=z T< Afe=
(C) wd #ed (D) e wed
121. F=fIRad # 9 HF-91 GiTe aTviisash aTeHi & Had™ § T8t 87
(A) W TE o (B) Hfea1 Urs Afes
(C) W HieH (D) = wied
122. If the pH of a liquid is 50, then the liquid is
(A) alkaline in nature (B) neutral in nature
(C) liquid metal (D) acidic in nature
122. (I O M4 pH T 5-0 2T, OFR 96 i

(A) 4R[SR 2Ffeq (B) zifie zpfeq
(C) o= 4T (D) =N 2Fheq
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122. 46 ©qceE . @25, (pH) 5:0 203, (72 oelb

(A) =R =Pheq (B) e ziphon

(C) =T 4T (D) oIF 2gfed
122. Sfc HFH AEEE pHRAT 50, 3edl o AE@ral

(A) @RS ARgH (B) =%

(C) &ma o1g (D) tfre mgH
122. S« et 5 1 flo T=o (pH) AW 5-0 8, @l 98 59 8

(A) Tepfd ® @ (B) Wehfd H qexy

(C) et &g (D) WFd | A

123. Who is the Vice President of India, as on 1st of January, 2024?

(A) Gulab Chand Kataria (B) Ram Nath Kovind

(C) Jagdeep Dhankhar (D) Rajnath Singh
123. 1 SFESI, 2024 ACACH SRq ToRIEHNS (I ?

(A) SR 5% FOIAT (B) FI¥ 2 FIR™

(C) wamiel 49T (D) e PR

123. 1 S, 2024 ACACE SHeed THRES (F 2

(A) ColeT™ B oI (B) AN M (FIR™

(C) wolmlol 44T (D) e Ficz
123. 2024 "EAEH 1 gk erfdfeme TRaf oeTs grRRffeEr ar?

(A) TS T] AT (B) TH 1Y &<

(C) SFTET &Rt (D) Ty T
123. 1 SHeRl, 2024 & R & ITPHTd i 27

(A) TS =8 Tl (B) 9 Y i

(C) ST e (D) T g

124. Which of the following belongs to Class I category of lever?
(A) Scissor (B) Wheelbarrow
(©) Human arm (D) Stapler
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124. FERETS @R 229 AR o =m@afs 2
(A) B (B) CJeTl ST
(C) =g 1> (D) BRI
124. A @D 242 9w frecam omwss 2
(a) < (B) CoeTIaNfE
(C) VRS 2T© (D) oRefeTH
124. TEEM Fe g omaEr 1 foemf fafefor?
(A) @Y (B) et T
(C) TR e (D) VUAR
124. fFefafad @ @ FF-91 ofiag i war 1 Ao o gafed 27
(A) =it (B) et
(C) wHa YT (D) WU
125. The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland
(C) The United States of America (D) Japan
125. (FF (7F SIOR “[oTe J8] Pgie 39 987 G5l F& HF A ?
(A) e (B) DREINCEIS
(C) SICARF TS5 (D) e
125. (F (0K SIS AOIPH #le “IhgpiNee Gh(b 7wl @7 SICR ?
(A) = (B) *RHHEITE
(C) WIRh o8 (D) S
125. ¢ ERRH e e mef |mere 79 6 7
INBELS] (B) YEoIRaivg
(C) iR SUTg TR (D) S
125. 750 391 & WA o | ofTel IR W T e HiE 27
(A) SSfie (B) feresieis
(C) HFh T IR (D) ST
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126. Which of the following is considered as the earliest compilation?

(A) Yajurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda
126. RS (FRICGR SBRSCP 7@ Aper Jfel RKieava 41 27 2
(A) “TEET (B) ‘Sdcaw’
(C) ‘Ao (D) STHCw
126. A @G 2AbRTON 7Fe BT [Ib T = 2
(A) FTHHT (B) ‘wi=&@w’
(C) “dcaw’ (D) AW
126. AN F9@! sty Ffsfe gyrae foram fosme gmam gei7?
(A) et (B) ‘wrereieE’
(C) ‘foae’ (D) ‘wmeE’
126. F=ffad o 4 58 T T8l e THT ST 27
(A) e (B) ‘wrddE
(C) ‘FaE (D) ‘@mae’

127. Which of the following places was a part of the Indus Valley Civilization?

(A) Machilipatnam (B) Babylon

(C) Mohenjo-daro (D) Byzantine
127. R e 219 P S Terer omEsfs ?

(A) TG (B) Cf<eT

(C) Tc=cGMIC (D) ArEc&bE
127. ficg Sfafie @R 2@ g oo sorom s fee 2

(A) =TTy (B) <<t

(C) CzcgmICal (D) ArBCerbiRe
127. TEEMH Je SRR f87¢ gRAM demia aermee?

(A) TSI (B) dfera’ s

(C) Hesl ar’ (D) fersmfees
127. f=fafed # @ wF-a1 e g = g # fewn on?

(A) TSI (B) sl

(C) HrEsiIes! (D) sfenfa
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128. Who among the following was involved in the Battle of Waterloo?

(A) Napoleon Bonaparte (B) Czar Nicholas

(C) Adolf Hitler (D) George Washington
128. J0FE] J7© FARINS @R[ ST wifew 2

(A) oo = (B) ficwrmems w™

(C) 9w f2oea (D) & LG
128. Fitb SERerm W (3 SABRER J0a Se =eem ?

(A) TN Q@S (B) @I fcreThy

(C) @ f2he™ (D) & SHIPHIG
128. TERTE EHE WX HHFT dERH STaersi wlesll &7

(A) -9 fora ST (B) SR i '@ma

(C) Teew feear (D) TSl STiTe
128. Tretq it wer # Ffafad @ & & i on?

(A) SOIfeRE ST (B) SR feprera

(C) Tsie® feeer (D) St aTf¥pTe
129. Bhairabkunda is a trijunction of which of the following?

(A) Assam, Bhutan, China

(B) Assam, Bhutan, Arunachal Pradesh

(C) Assam, Bhutan, Sikkim

(D) Assam, Sikkim, Arunachal Pradesh
129. (STPS FRERS @ [eea PR gm 2

(A) SPH, $OIF, B

(B) P, O, ST 20
(C) =P, oI, fofew

(D) =P, O, Sreelbet 2o
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129.

129.

129.

Meva (1= FouIfb ZieaT ARCaeTET (oqaPe ?
(A) =P, B, I

(B) ST, SO, SREAbE 20

(C) =P, To, Fifew

(D) =P, PIfRFS, SI=eelet 2ol

WFF-aa] e Fel FTEATH SRR MRS ST ?
(A) 3T, A, =

(B) 3TE™, JdH, TE0M=d Ja91

(C) erram, g, fafam

(D) 31, fafern, srevmeer e

Repe Freferfad & @ fraen Seiam 27

(A) 37EH, M, =M

(B) TW, YgH, TEUT=A UG

(C) ar@m, vz, fafam

(D) 31&m, fafey, swvmee e

130.

130.

130.

130.

130.

Which of the following is generally salty in taste?
(A) Snowflake (B) Rainwater
(C) Flowing river water (D) Seawater

e (e emam Toa15e A 2
(A) PR (B) I~
(C) =t @i (D) >TsiF “Iie

A (@D MAFTS FW NS 2

(A) IS (B) 3B ==
(C) zrIfZS W & (D) TolCse &ra
HIRIERCER R R E = DRIICICEY

(A) SREB-T=T (B) 3T@I-BIe
(C) =g o & (D) @ &
frafafad § @ F9-w1 e § ameE: TEhe g 87
INRRECE (B) <ieEr 1 art
(C) wedt dt =1 qr (D) ©gZ 1
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131. Which option is similar to Pencil : Student : School?

(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank

(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
131. (P! [m coifeeat « PRt « Rvgrer sTena s 2

INIRERICIRCE S R LD (B) I~+ToR : [ @ @F

(C) FoI9 : (14T : fForl (D) 5% : (AR < AT

131. (@I = il : =g« Rwper-9g S ?
(A)%@:Wﬁ:ﬁ’{ﬁ (B) I~+ThE : wfaFIR< : =
(C) oI : (14 : 32 (D) =19 : CHIFIMI 21Ty
131. s o5 ufe - war - e St e
(A) TSR : T : foregpe (B) AWK : Hraw fifY : s
(C) W : ferfiit - forerma (D) & T : TARR : ST
131. -7 foshey Ut : B : Tk % THE 27
(A) =& : @ - fafene (B) & : M : o

(C) g : ThEs : fohame (D) ¥%a : GHMER : |HH

132. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is
incorrectly paired?

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

132. I REAR = 42, TEAR

44 9[¢ DEAR = 28, (98 RS (G @9 oes ?
(A) PEAR = 40 (B) FEAR = 32

BEAR = D) GEAR = 31
C 26 G 3

132. I REAR = 42, TEAR

44 @3 DEAR = 28 2, O3 A (@D Tl (S0l ?
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

SLRC-2024/P-111/ 1-B 81 [ P.T.O.



132. Jf€ REAR = 42, TEAR = 44 3 DEAR = 28, 37scTl T 9« ST oI5t T S1ai ¢
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
132. I REAR = 42, TEAR = 44 3R DEAR = 28, qi fiHfdfad & ¥ ®H-91 82 Taq ot 9
e T 87
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
133. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?
(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE
133. Wi “MC! 79 FR<T AFE Kpmch! ey o
g8 : @IS :: el @ 2
(A) SR (B) fer
(C) oM (D) =/
133. ¢F *Mib *[<C &= Tl [a s o
T8 : SIS :: el @ 2
(A) =T (B)
(C) o (D) =™
133. Sa HigEd! 7 Gl JefH et are’ -
G : AY ¢ G
(A) TFET (B) femtmar
(C) =T (D) =
133. 3ifad 9 I WA % o wam feshen @i -
I : ATl R 7
(A) e (B) I&
(C) = (D) ST
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134. Identify the pair with the same relationship as Child : Vaccination.

(A) Fever : Medicine (B) Food : Cooking

(C) Plant : Pesticide (D) Animals : Food
134. g : IR ST RS @RI Hre o |

(A) &9 : &Y (B) 4 : I

(C) Tfew : o (D) &% : 4
134. g : BIRa9-9q 0ol 438 T(E Gio 1S e |

(A) =9 : 83% (B) M :

(C) Tfem : FHam (D) 21t : 4
134. 7Y : RATEMM @ G THT S AR |

(A) AHSHEE : gfd (B) &R : T

(C) gl : Tl frermam (D) TS« TR
134. == : HEH % GHH e 9] SIS sl Te= hifery |

(A) g@r : o (B) @M : eI

(C) e : FieTTh (D) Y : WH

135. Which of the following words would not fit correctly in the sentence?

The person died of a hit on his head.
(A) lethal (B) fatal
(C) deadly (D) subtle

135. AR (PICET *% 2w8 TRRCETS 41 S 2
O OEres F7e s 97 (R |

(A) RO (B) eleraret
(C) TR (D) I
135. “PfEH IR (NS o TG I7 177 @2 JFHee TWod @ ¥ ARFeIE A9 A
T2
(A) FETIP (B) arerErel
(C) THrSF (D) 1=
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135. TEEH Jd FEET MY B SIUEE @i SHEE TS T?

o AR WA IS 9
(A) frgema (lethal) (B) iU (fatal)
(C) figeTqg (deadly) (D) 31 (subtle)

135. fF=fafad @ @ w=-a1 s a1 § ot @0 9 fhe gt amm?
frm _ wew @ =afe B dia @
(A) =T (B) STHetan
(C) = (D) we

136. What would be the correct sequence of the following words as per the standard
English dictionary?

1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2, 3,4 (B) 4, 3,2, 1
) 4, 2,3,1 D) 4, 3,1, 2
136. W< 2RAME WY SFPIR 2we *9PTR W I ¢ 292
1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3, 2,1
€) 42,3, 1 (D) 4,3, 1,2
136. 431> S 32cafe SISy SRl 2we e M ¥ F 2 ?
1. Royal 2. Regal 3. Renal 4. Rebel
A 1, 2,3, 4 B) 4, 3,2, 1
) 4, 2,3,1 D) 4, 3,1, 2
136. TH AITET S0 Aare fgeTa A aRied s I 71 ST
1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3,2, 1
C) 4, 2, 3,1 D) 4, 3,1, 2
136. T IS Ie3hITT o TFHR I Teal 1 Tl A FT 27
1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3, 2,1
) 4, 2,3,1 D) 4, 3, 1, 2
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137. Select the appropriate number to correctly continue the sequence 27, 30, 37, 50,
?, 98.
(A) 69 B) 73
(C) 81 (D) 91
137. 27, 30, 37, 50, ?, 98 XRIFACD] WalP WG A ToRG FRINCH! oo 596 |
(A) 69 B) 73
(C) 81 (D) 91
137. 27, 30, 37, 50, ?, 98 TG AT BT TS ToR® MG fo=fibe Fvee1 |
(A) 69 B) 73
(C) 81 (D) 91
137. S &S ATTTETRH! STESTE SHSHERE 9 |
27, 30, 37, 50, ?, 98
(A) 69 B) 73
(C) 81 (D) 91
137. TIFHY &I TEl &1 ¥ TR WA o o1 3fa g @ = Al
27, 30, 37, 50, ?, 98
(A) 69 B) 73
(C) 81 (D) 91
138. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?
(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three
(D) Cannot be determined
138. “E<Icy WA I @ OR (enifonis €¢, 57 cmdAee o9 e’ Wi (@ cEd Ofe e |

(OSSR Tl T Fferie @Ml 33 21 2
(A) 7RI B (SIfoetE BI%[

(B) @< S Ceified Twel e

(C) Farer R RIS TRICes e

(D) ey 37 =fa
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138. @<l e enifed 5@ o1 I Wik weq, 57 e, @ 98k 6@ S o1 @i @ SEd
T | OIWE TS| FACH AIChT (I el A 2
(A) I SR (SIfeR (e Il
(B) “[E< @3} (SIfS W2 THeF
(C) Trel feaecem wcay e
(D) fvdfiger a1 = =7
138. Ugd MEE! SAfRgs S gW A=, T UgeitRgs SiiA Raaren ugsi amamen Jaw
BT o) foret Shemgel S T s e ?
(A) vgsrn safafigs TEfmem
(B) gl 3 safd=n wue Sh
(C) feuramn wumfy e i
(D) T
138. ugdl, SAifd ¥ et B4 1 a1 Bl B, Al Or, S gzl § «elt B, S @ T agelt e 21
3T s ok aR § frfafad § @ @ e S aekar 27
(A) wgdt e w1 @ sfa @ 31 2
(B) gl 3 sfq Y <ol a9 ®
(C) ferar =i & gerd el B
(D) & & feram S gehat
139. At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?
(A) Aunt (B) Daughter
(C) Niece (D) Sister-in-law
139. FCETET GF SIS AR G SfScTeics SglriR 1, ‘(08 (N *M WZY GG RS
o’ | e (0T SfSCToreed e 5 5 2772
(a) <o (B) &=t
(C) sifat (D) T
139. Y36 ICACHA SRRICH, T G Sfee e BEre wea qcerecae, Tl SiME i

GG (2CF ©E’ | SO N 9967 A Freid T=oIFe 2
A) FH (B)
(C) =ify (D) =%
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139. TH RGN THE e Warn wagREe ftemm gem, e enfa frgasnta
e’ frarert forme | SR fomTStt wetreT 91 g SR
INIRELIE (B) et
(C) formme (D) forerT

139. TF Hhicisl GURIE H, VAT A Uh AT 6l 3R TN A TC Fal, a8 W T % Thaild o2 Al
oqiett 77| ST s AT 61 AdTe O T Hey Y
(A) ==t (B) &
(C) WSt (D) &

140. Find the best option to fill in the third term :
Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system
(C) Rocket (D) Radioactivity
140. TR “MCO! 9 FICsT TS [Rech! fofioe 59
T : T 2 2 : PRI

(A) TS AL (B) TS Fm
(C) <D (D) (TerERTel

140. ORI “mfb <[es & ol Rl ot
Qegel « oISh1 12 2+ (PIomafeem

(A) & AERE (B) AT o7
(C) AT (D) (TSI

140. oMWY WEEE! AT WA qrefeq et g
WW:%::?:W
(A) & TREREE™ (B) efasraf=s @it
(C) The (D) gt wmnfy
140. T 98 FI 9 % fofe waw foskhen @ifem
W&w:wgq::?:ﬁqrﬁw
(A) T qRE=R (B) GI-hiseh omeft
(C) Tehe (D) Yeafifar
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141.

Consider the four numbers given here :
I. 376 II. 629 II. 921 IV. 397

If the digits of each number are arranged in ascending order, which new number
would be the smallest?

(A) III (B) 1II
() 1 (D) IV
141. @we BIR6I 7Ry R 79
I. 376 II. 629 III. 921 IvV. 397
2fSCHT FRAT TG THGAS G (I TPel IR [ TPeToq 2 2
(A) III (B) 1II
() 1 (D) IV
141. 6 (redl BRMG A< Kb e
I. 376 II. 629  III. 921  IV. 397
2IfSfb Yy SR TR eI 20, (I T A FUow B¢ ?
(A) 1II (B) 1I
() 1 (D) IV
141. BT AFg SESHBRE! TSR 8l
I. 376 II. 629  III. 921  IV. 397
Sfe AFHmEEl AN FAFERE StaF™ SIiREE a9, 3l 96 MeF SENEET Safgs
ERIEEASIUIE K
(A) 1II (B) 1I
(C) I (D) IV
141. ¥ & TE 9 gened W foun A
I. 376 II. 620 1. 921  IV. 397
Ifg T TEAT 1 AN FH B FAfed foran S, @t sH-dt = g ged St 27
(A) 1II (B) 1I
(C) I (D) IV
142. Find the odd one out.

(A) Sparrow (B) Crow
(C) Bat (D) Peacock
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142. e *@7o1 [oi Shernes |
(A) wSOR (B) ITH
(©) T (D) < B4R
142. i oo @@ o |
(A) BOR (B) I%
(C) @ (D) =R
142. TR AREE! TR G|
(A) &@l (B) s=@n
(C) amemTe (D) a=TE
142, AMHA HI Tg=THT |
(A) TR (B) @l
(C) =mEg (D) ®X
143. Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?
(A) Aunt (B) Grandmother
(C) Mother (D) Sister
143. 937 FOIEFS *qo] BRYCe SgerE Tl 3, — (087 °req Prp @R FPTOR
GG @I | Afela] =S (TS (P TFACT 7oA 2
(a) ¥ (B) Izl
(C) TP (D) =2
143. @ TRe *[e-97 e ro @ Tfem Icem, “Or SRER e sImE Premes I Ee
®EA’ | AT ISR *FAR-GF FCF TS ?
(a) I (B) Prom@
(C) =T (D) =
143. HEMEE TaEe o g W miferen gem, Cfafy fearf fawmn sl ety e feeren’)
Tiferft A wXAf AmeETe /e
INRRELIH (B) faa
(C) fomm I BEEWACEIEIE]
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143.

U TER H IRG hl S W A Y W] 4 Fal, Ik WIE oh fual W IS ok ghalld I
27| wierft, wra @ T yeR wafia 27

(A) == (B) <r&t
(C) =t (D) =&

144.

144.

144.

144.

144.

If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

g ROBOTICSE OROBITSC f25I(d 'S 341 =, (908 PROJECTST ¥'T 2’9
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

It ROBOTICS-¢3J &S OROBITSC 2, 934 PROJECTS-¢J R3PS 24
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

Sf¢ ROBOTICS T a1 OROBITSC, 371 PROJECTS 4 &ar1 SImi=

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

Ife ROBOTICS %l OROBITSC & &4 § #ifed fomam sirar 8, @@ PROJECTS & & &9 @
ehie for STam, &% @

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

145.

145.

In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?

(A) South-East (B) North-West
(C) South-West (D) East

9Bl ffeEre Fikeq SIQEh! A9T SI9E 77 T SiCE | Piked slare| 0% wEE F10e eeee
S SCR, FCh! ORMR SIaeTa 2163 FIceT MCg | A9 SIQeco! PORES SQea 2[/1 (e e
99 2

(A) wFReI-27 (B) Teq-Ifey

(C) wFFa-#(f*5x (D) 7R
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145.

145.

145.

(b RGITR Prrees <l qces AR 7 W | Piceeg 4| 0% wfwe I@cR SIEeE bl Al
oo <mE 2IFx e | oo <151 (A qcTd A1 @I T 2

(A) wfEwe-o (B) Tea-7Ifoy

(C) wfEwal-oIf5 (D) 7

o8 JArEtferme ' wrsten S wrei aeeer fw'f weei ey ged
AT S Faar e et qef wretien foar el safd aman?

(A) EIAT-HHSI (B) GI-HHT&If

(C) WrerT-|HTEIy (D) G

U fafeamr 4 2R 1 s, a9 o ISk & qd 61 3T 21 W o TIsk & 3ie Sfeor 1§ e 1 fus
7, 91 <fiar & fisR @ ufsm it 3R 2| <fiar & fisR @ s =1 fosw form foom & 27

(A) sferur-gd (B) IW-4fm

(C) sfegur-ufzm (D) &

146.

146.

146.

146.

146.

At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph

qeriee 12 . . qaeq awa 2w 15 {fse 05~/ 939 THI91CI [ @ore T@l 39
o1 2

(A) 64 . fi. afe 9o (B) 84 . fi. afe v

(C) 48 . fi. afs gb (D) 36 . fi. @fe g6

«3f5 NS e T afers 2o 15 MfIG 12 RFeEfivR 1@e o8y ¢ 2

(A) 64 5. fi. afs g6 (B) 84 . fi. afe g

(C) 48 . fil. =fe 94 (D) 36 f. fil. =fe 945

T TSITATHREE T T 98 @RS @Reen 15 fftea 12 o fifo Miem w@m=?

(A) =EEE 64 foho filo (B) e 84 feho filo

(C) =vermE 48 o fio (D) =vermE 36 o fio

15 fife # 12 foreiivier T forelt Taea 0 U5 o foTT T 1 &l Tomm  fore TR @ =@
nfeu?

(A) 64 fho o Ufd =T (B) 84 feho o ufd =

(C) 48 fho o ufa = (D) 36 feho o Ufd =T
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147. Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
147. 51 N 3G FSHTS (SO ¥ 7T i 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
147. S 3:CE(S SIS (@] *[A {0 10T AP 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
147. AWM SOST |G {6geSTa 96l | 6 =7

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
147. 9 TS Teghien H -1 e Afam grm?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE

148. Identify the correctly spelt word.
(A) Moderator (B) Moredator
(C) Modarator (D) Moderetor

148. w7 JEERE <00 e 793 |
(A) Moderator (B) Moredator
(C) Modarator (D) Moderetor

148. A% IR (0 *[ 1S Fe] |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
148. TR T3 Aererd! iy |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor

SLRC-2024/P-111/ 1-B 92



148.

TE ! ATl M58 I TG |

(A) Moderator (B) Moredator
(C) Modarator (D) Moderetor

149. Which of the following words cannot be made using the letters of MENDICANT?
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
149. MENDICANTY S[¥<2 <2 Fi4 FRTRS (P61 > 515 < M=t 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
149. MENDICANT-3 STFI%fe] I92[4 ¢ A7 (Fo *HA (0 519+ F1 IR 1 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
149. MENDICANT ™ @%@l ATERH e o6l Aaew@! Il g
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
149. Ffafaa § § #H-91 58 MENDICANT o 3181 Sl 30N ik &t a1 ST 9ol o ¢
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
150. At the Youth Parliament, certain number of country representatives sit in a linear

row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

A) 19 (B) 21
(C) 32 (D) 17
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150. 95 I FOMS (PRI (9 Al faeet I9 SR Gebl W[ feer | BRI ArSFICE
(P TRIAIF TS 2 | GBI ST BN FlTo e qfReR | qReazAS A| ofeies vodf
FEO AR ARCR | (TN 05 AISFICEA AR T2 FAC, IHAF (TR H[OR G
CTFRE I 791 POr FRTe OCR | Bl oIF (T qew ([ R qRCE2e oI
GBI &9 (79 TR CTCS A | GRS S[<F IO A[ere TN = (™IC2 12 R | I
ALTETS JoCe e o 2ifsfif 3f2 e 2

(A) 19 (B) 21

(C) 32 (D) 17

150. 3 9w, FIE MY (R 2AfSHA1 9 AfRCe 3010 3R FFCE2 WO IR | G miem
GEIEER AN WeE I07 R | [, Q@R A WS T IONR | S, ARCF2C]
TR 5ol Bt IO | FMG], (TACrd 0% AT IR 3R (I TR 57 T 218
(ACF DO | ICHIFT G (TINICHR T (O IR IR R ACHIFTIR ST | S @3-
IR W04y Mg =& (7 AT | I MR (G M6 (7 9077 AR 2

(A) 19 (B) 21
(C) 32 (D) 17

150. 999 A HECH UG BElH ATRWRI ARITERET HiEl SEE OiR i eE |
e ety smfafy wifser’ aefaer fsrmeeh )| i v’ fenfy smfafafem aafomme ) om'arn
AN IMEIEE aftmme e Frem ST S TS el S e g
TETiEE oty miETe €| T T ST SR TS ST Bel 8, STetEd TN Uk WA
TSRS THATSHI | 3T AT 3R TSI Tod Teed gl SeEl | Tl o8 2ot awrT o
SATEAH HeeE S 87
(A) 19 (B) 21

(C) 32 (D) 17

150. Ja1 Tue § $» ffda wen & S & ufaffy ww dieft afe § sed 2 oMk weft qsfel At 3 de
Fh 93 A B | TR Y 9 TR Fad 38 ATk 43 T fSh, v i 9 IR ared e W
B ST, SEiF % S A Y T W B | FAET, ST & i 918 AR 937 2, I ST Uik
ifom o BR ¥ R T W | TRIFE R S % S A A @ el o R ueit &
THM 3| S 3R FATET & o= hadl B8 o dod & | Tl HeieR foha 31 gar w6 § dad 87

(A) 19 (B) 21
(C) 32 (D) 17

SLRC—2024/P-111/ 1-B 94



SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-B 95 [ P.T.O.



SPACE FOR ROUGH WORK

* kK

SLRC-2024/P-111/ 1-B 96 JB5



	Cover_B
	6-33_B
	34-40_B
	41-80_B
	81-96_B

